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SECTION A (PHYSICS) i 60" the magnitude of each force is?

M 2IN35N @) 21N,30N
(©) 20N.35N @) 20N 30N
(E) Noncof heso

=

1. The angular diametec of sun is 1920” and its
distance from the earth is 1,496 x 10" . 1

diameter of the Sun i S e o
9 40 x 10%0 ofaroom s 25 bigh The masimun
s s distanco that a ball theown with s
© 139 10 () 149 10m orizontaldistance
) Nowithe e ) 1ma
e © 15z o 1

2 IV = 00 5) volt and [ = (10:202) amp. G et
The ot cror b (0202 00 | ) Nonafheso e
@238 (A E) 6. Agun of mass 10k fires 255m bullet at the rate

g ) 459% (I3 of3 bullets per secand
5] Noneofthese T fore rqutred t b
T

3 bl deppd e ottt aes | (8] S o ezan
0.2 sccomds to pass i whadows 3 high Howe | () b
fa i o o o window b thety | 9 Noweotthese
A1om ) 1002 o5 “{ 7 A ballis iven an initiat velacity of 500 cry
@ 1008m ) 1006m " smcand wad it conmes to fest i St o
) Nonof these . The coelcientaffrcionds 0

. — | ot o

& oo forceshose it re o @ o

sivesresalant 39 . 1 the angie of ek ) Nonooftess
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[image: image2.jpg]utums of a body incroased by 50%.

8 lithen
Uhenvn ciange in kinclic energy is?
@) 50% ® 75
@ 100% 0 125%

() Nonrof these

6. An object of mass 150gm has a velacity

6i)m/second at a certain instant, its
Kineticbnergy is

@7 ® 2

© 3 © 4

(£) Nonwof these.

10, At bullet s fred into a 2.5kg bob pendulum |

‘and get embedded ini. 1 the pendulum rises 0
‘avertical distance of Gom. Th initial speed of
the bulletis

(&) 110mis ®) 260ms

(€) 340mis ) 360ms

{E) Nonaof these

11, Adkgobjeetislocated un x-axis
a5k object i on xeuxisat x

tx = dmand
. The centre

of mass is

' 1
® -5 ® -3
e '
©=F ™5

(E) Noneof these
oo T SIS
12. A ball has constant angular acceleration of 2

Farlsec. 1Tt starts from rest,its angular speed

after 2 second is T

@) 1rd/ ) 2l sec
(©) $rad/sec ) radfsec
©) Nomsf these
Bl ST S
13 The angle between 3= (is2i-iand
be(g-3ie20)
() 5050 m 7070/
© 7913/ o) b2
(&) Nono ofthess
o e PR T
14, The moment of inertia of a Copper Sphere of
iameter 20cm about the langent to the sphere
ifits density s 8.9 gavcm.

(4) 5206 x 10 gmem?
) 5.204 x 100 g
(€) 5.206 x 10t gmen’
) 5.204 x 10 gmem?
(® Noneof these

15, The kinetic eneray of rolling a solid sphere of

. mass m and velocily of its centre v is.
| s
i L
w3 ®
1.5 2
© 5 @) e
®) Noneatibo

oo AR O R e

16. A body is taken to a depth of 20km from the.
Surface of the earth. The % of decrease in its
eightif radius of the carth is 6400km.

(@) 0.10% ® 020%
(©) 031% ) 041%
{E) Noneofthese

7. An Tron rod 3m long and area of cross section
0.5cam? streichos Tmim when a mass of 25kg 15
g o s ower e The oungs moduls
[A) 176 x 107 N/m? (8) 9.2 x 10'° N
(C) 289 % 107 N/m? (D] 2.56 x 10%°
() Noneoftheso

16. ‘The force rvquires pulling oul a flat circular
Jlate of rad s 0.02m from: face of wale
e surfuce tension of water is 0.07 N/m.
) 87 % 105N (B) 88 x 102N
(© 89x 109N (D) 8.8 x 10°N
) Noncof these

10, The efficioncy of a heat engine
camot cycle etween 27° and 221
()01 ®) 02
@ ) 04

aperaing on

20, The velacity of sound in a gas in which two
wavelengihs 2,04 m and 2.08 m produce 20
Tieats in 6 seconds.

() 3536misec ~ (B) 3B3BmseC
(© B3anysec D) 353mses
() Noncofthese

SECTION B (CHEMISTRY)

it e

21, Pearlushis
&) kO
@) KCoKeL
A el e S
22. In the titration uf weak acid with strong base,
‘which indicator can nol be used 7
) eyl Orang @) Phapolghihalin
& DobiA)and (B) () Thymotphthalein
(E) Noncof these
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[image: image3.jpg]23, Which of the foilowing does not exist on the
basis of molecular orbital theory?

AL,
© 1

. Fthor e el of (r -+ 1) s i ateingl
Eabn L o covec rlaimship s

@
i

@i=" ® l=(n*1l%
1
©@ 1=2m m1- 8

® Nonool these

25, For which of the folowing AT = AH
(A) N,0,8) = 2NO,(8)
@) 20,(g) + 0(g) = 250,(g)
(©) Hife) + olfg) <= 2HCLg)

) Hyg), L 0ue1H,00
) Nouoofihese

() Noneof theso.

©) Allofthese

.00 the  dohydration  reaction,
1L,CONIA0; CH,NC, the hybridization
stteofcarbon changesfom
{A) Sp? 1o Sp* ®) SptoSp
@SS O Sps
) Nonof hose

S1. Who prepared frst organic compound in
Taboratory? o

(A) Dalton () Wobler
€) Kolw (D) Berthelot
(E) Nonwof these

26. H, D, and T, do not diffee in
(& Hooingpoint () Botling point
(©) Bondenergy (D) Criical temperatuce
© Nowoof theso

27, Inorder to refine “blister Copper” it is melted
i furnace and js stirred with green logs of
wood. The purpose is
{8) To expelthe distolved gases inbliser Copper
6) T ringthe i o oo oxidizn
(C) Toinervasa tho Carbon contant of Copper.
) Toroduce the motalic oxide impurities with.

hydrocarbon gases berated from o wood
(E) Nonoof those:

28, The IUPAC namo of
“NO: COOH

COOH NO:

(A) 6,6~ dinitrodiphenic acid

(8] 6, 6 - diniteo -1, 1 ~ biphenyl -
dicarboxylicacid.

(©) 2, 2 - dinitro -
dicarboxylicac
) 2,2~ dinitrophenicacid

{E) None oftheso

REF/i0S'10/AGM

1 = bipheny) - 0, 6

32 In the Lucas test alcohols, appearance of
cloudinessis due o the formation of
{A) Aldebgdes (B) Ketones
() Acidchlorides (D) Alkyl Chlorides
Nonoofthese.

e conversion of acetone intn 2, 3 =
dinnethyTbutane 2, 3-diol can bo achieved by
) Using Zo/Fitcl

{8) Wollf - shnoe eduction

Q) Using MyHgH.0

D) Tho conversion st possible

) Nonwof these

34, The rate law fora reaction between substances
a'and o given by rate = KIAPIBI®. On
‘doubling the concontration of A and halvin the
cancentration of B, the ratio of new rute (0 the
warlier of the reaction will beas

®) (m+n)
@) 200w

) Noueof these

35. How many coulombs are required for oxidation
of 1 mole 1,010 0,7
() 380X 0 (B) 905X 10C
(€) 4825 X10°C () 193 X 10°C
(®) Nonoofthese




[image: image4.jpg]36, The cuthalpy changes for the following processes
Tisted balow: &

5= 21, 131.0K] mol
el =Ty + 2113 KJf mol
1,8= 1 625KG mot
Given that thé standard states for Todine and
Chlorin are (9 and CLg), he standard entbalpy
afformation ot el is
(A) -14.6K) molt
(€} 16.8 K] mol®
(5 Noncof these

) 168K mot
(D) 248.8K] mol

7. Tunsintances A 1 <5 min and (33
min)arelaken in such a way that initiafly (A]
Z3ib}, The ime atr which the conconteation
of both the substances will be equal is
@ smin @150
© 20min

() Concentration can noverbe cqual
&) Noneof theso

38, Whatis the ratio of mass of an clectron to the
‘mass of a proton ?

®1:2
1189

30, The reason for double helical structure of DNA
isopecationof
{A) Van der Waal'sforces g
(®) Dipole—dipoleinteraction
(€) Hydrogen bonding
) Hlecirostati attractions'

® Allofthose
30, 1o sired clecteons are present in

N0 cattont (e = 28)

@o w2

@1 oo

® 0

SECTION C (MATHS)

PSSy
b oo Bty gl i

stseach having3 clements. Also .

and cach olement of § belongs to exactly 10 of
AT and 8.1 B Thon 15 equal 1o

@) 15 ® 3
© 35 o3
(®) Noneof theso :

42 The domain of the function f(x) =

s v 1

e
Tog,o(1-x]
) (2.0

(© 62,01 U (0.1) (intersect

o) (20U (©0.1)

32 g

® (©.1)
)

(B) Nonoof those
35 1,y e cube ruots of . where P < O, then.
xaryBeyy
forany 3, 5.2, the valuwof Xg 0 i
™o o1
© o m o
) Noneofthese
R R
. The maximum value of oL
a3, The atue ot T o
3 ®
© 1 ) a4

() None of these

5. The coufTicient of x¥in tho expansion of (1 + 2x

e
() 54C, ) 59C,,
@ 84 ) sich;

() Nona of these

0. Valucof 31
@1
©5
) Nowwof these
7. Far spocifying a straighl line, how many
Seombiical prammetors should be kv
s o2
©3 s
) Naneof these

T
B O
LT
Ay =8(x+3) B ¥=8(y+3)
€ y*=-8(x+3) M) y¥*=8(x+35]
{F) Noneof these

39, 1L s the foot o the pespendicular drawn from
(5,3,5) on x axis. Then co-ordinale of L are.
) (0.4,0) ) (3,0.0)
© (10,5 ) (2.2.2)
E) Noneof these.

50. The variance of the number 2,7 and 9 is

(A) 8667 B) 8665
(C) 8668 D) 8.669
) Nomoofthoso
REFAOS10/AGH





